
Activité	
  A4-­‐2	
  :	
  Les	
  mécanismes	
  génétiques	
  à	
  
l’origine	
  de	
  l’évolution	
  

Quels	
  mécanismes	
  sont	
  à	
  l’origine	
  de	
  l’évolution	
  de	
  la	
  
fréquence	
  des	
  allèles	
  au	
  cours	
  du	
  temps	
  ?	
  

	
  

Objectif	
  :	
  On	
  cherche	
  à	
  mettre	
  en	
  évidence	
  deux	
  mécanismes	
  génétiques	
  à	
  l’origine	
  de	
  l’évolution	
  de	
  la	
  
fréquence	
  des	
  allèles	
  au	
  sein	
  d’une	
  espèce	
  (évolution	
  de	
  la	
  biodiversité	
  intraspécifique).	
  
	
  
	
  

Doc	
  1	
  :	
  Evolution	
  de	
  la	
  population	
  de	
  lions	
  du	
  Serengeti	
  	
  
	
  
Dans	
   le	
   parc	
   naturel	
   du	
   Serengeti,	
   une	
   population	
   d’une	
   centaine	
   de	
   lions	
   s’est	
   isolée	
   dans	
   le	
   cratère	
  
Ngorongoro	
   (Afrique	
  de	
   l’Est).	
   Ils	
   proviennent	
  donc	
  de	
   la	
  même	
  population	
  que	
   celle	
   du	
  parc	
   naturel	
  mais	
  
vivent	
   isolés	
   dans	
   leur	
   écosystème.	
   En	
   1962,	
   une	
   grave	
   infection	
   fit	
   chuter	
   brutalement	
   l’effectif	
   de	
   la	
  
population	
  vivant	
  dans	
  le	
  cratère	
  :	
  seule	
  une	
  dizaine	
  d’individus	
  survécurent.	
  En	
  1975,	
  la	
  population	
  retrouva	
  
sa	
  taille	
   initiale	
  d’environ	
  100	
   individus.	
  Les	
  scientifiques	
  constatèrent	
  alors	
  que	
   la	
  diversité	
  génétique	
  avait	
  
fortement	
  baissée	
  parmi	
  les	
  lions	
  isolés.	
  En	
  1990,	
  ils	
  mesurèrent	
  les	
  fréquences	
  des	
  allèles	
  de	
  4	
  gènes	
  chez	
  les	
  
lions	
  du	
  parc	
  du	
  Serengeti	
  et	
  chez	
  les	
  lions	
  isolés	
  dans	
  le	
  cratère	
  Ngorongoro.	
  

	
  
	
  

Doc	
  2	
  :	
  Evolution	
  de	
  la	
  population	
  de	
  souris	
  à	
  abajoues	
  

	
  
	
  
Les	
  deux	
  
allèles	
  du	
  
gène	
  MC1R.	
  
Ce	
  gène	
  est	
  
impliqué	
  
dans	
  la	
  
production	
  
d’un	
  
pigment	
  
brun	
  
responsable	
  
de	
  la	
  
couleur	
  du	
  
pelage.	
  
	
  
	
  



	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Doc	
  3	
  :	
  Evolution	
  de	
  la	
  population	
  de	
  phalènes	
  du	
  bouleau	
  

	
  

	
  
	
  

Question	
  :	
  
A	
  partir	
  des	
  3	
  documents,	
  déterminez	
  le(s)	
  exemple(s)	
  qui	
  montre(nt)	
  qu’une	
  population	
  peut	
  évoluer	
  par	
  
sélection	
  naturelle	
  ou	
  par	
  dérive	
  génétique.	
  Justifiez	
  en	
  exploitant	
  les	
  données	
  fournies.	
  
	
  


